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N = 0l & AF & F Al A
2000 T 0lA FRES S
SH: DENCH
M2 EX2E R YL FXAL 25
Sl EXES WS (FUHRSHE) (St5: &8 2)
_ _ HE T
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
DEXNTD 9,398,475 11,655,586 ~2,257, 111
Al 423,250
XA 8,975,225
ZNSS HE L FUAL =5 6,055, 180 8,621,649 2,566,469
Al 423,250
XA 5,631,930
Zres WO (FHESEIH) 2,328,747 3,459,715 A1,130,968
R eyl =3 1,343,751 1,185,966 157,785
201 L2yl 90,510 73,486 17,024
01 AF=Raelt] 30,276 35, 108 A4,832
DEEES=1 21,016
2)POA AEIHE 1,0002 502 122 600
2)H22E P 31,0002 244 744
)B4 AM(BYFINES E28)
52,0002 504 2,600
2)EE BEAU 20 5002110, 0000H 5,000
2)BEAEIH ) 1002 %30, 0000H 3,000
DIASEBN(SHHAIY, JAFES) 7
H 94,5002 45t A 42Z + 122 9,072
DIEEE TSI 1,160
2)3t0i2t <2l 40,0002 *7CH 23] 560
2)PDA “2I8| 100,002 +6LH 600
NERSE T=H 8,100
2)S= (- otel, 22t HEl)
150, 0002 * 10% 1,500
2)gtt=(RE) 190, 0002 *10% 1,900
2ot = (2et2A, ot9l) 60,0002 102 600
p)EZZ(40], BaARA, 519)
20,0002 %102 1,200
2)2 Xt 15,0002 102 150
2)22) 15,0002+ 10 150
2) % 90,0002 *10% 900
2) 8t 3t 110,002 *10% 1,100
2)he (81 =) 60,0002+ 10% 600
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X XH .
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chel:

B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
02 =229l 60,234 38,378 21,856
N3=22=2 2 HMA 6,640
2)S+=XE NHSIHAl 100, 000& * 1 CH 100
Q)EXEY ML Z
80,0003 23] = 1CH 160
Q)ESTY BES 500,000 = 1CH 500
2) X XS XA 100, 000& =5CH 500
Q)XY B8B83 500,000 *5CH 2,500
2)PDA SHI2 40,0003 x6CH+12& 2,880
1) Xt 2, o etd| 16,500
2) X2 3,000, 0002 *5CH 15,000
LS EEONE= 1,500,000 *1CH 1,500
1) 2l 37,094
Q)R FPYUH(E=XE)-ER
1,557&*2,000 £ =1CH 3,114
Q)R FPAULI(HEXE)-3 LR
1,6992 *4,000 £ *5CH 33,980
203 HRF&H| 4,800 4,800 0
03 AIHEZFAHRFEY| 4,800 4,800 0
N=NEMNESY SRFAYI 200,000 x12& 2,400
NEXSE2SE JRFAY| 200,000 = 12& 2,400
301 etEaa 28,180 34,340 A6, 160
09 SUZRRVELZ 28,180 34,340 A6, 160
na= 80,0003 x10H 122 9,600
DEREE] 5,000 x202 *10H * 12 12,000
1) X234 At 10,0002 »10H * 13| 100
1) SHl 1,800& x202 x10H * 12 4,320
NE& 0 1,800 20 *10H x 123 x50% 2,160
303 EAZ 36,000 32,400 3,600
01 Za3 36,000 32,400 3,600
NEEFINCE2H S22 ZTaZ
40,0003 +7,50024 * 12 * 1% 36,000
307 giz2told 1,139,561 1,022,940 116,621
05 BIZIRIEZ 1,139,561 1,022,940 116,621




2N DENED
Hu: FR2s Y L FAAE 25
el EX2E e (FUHESEEIH) (9l @2l
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
IEEEEEHIERE N
40,0009 +800CH » 122 384,000
NIAMS RS D L2l 222
755,561,000& 14 755,561
401 A&EIL=0HY| 44,700 18,000 26,700
01 AIZH 44,700 8,000 26,700
NFEYMSX P 44,700
2)TEM T4 2,6002!*15,000 39,000
2)RE e At 3.8002!*1,500m 5,700
B BES TV 28 450,616 581,880 A131,264
201 Lur2 | 125,088 131,988 26,900
Sz=9u 125,088 131,988 6,900
2322 2 HA 72,816
2)CCTV S4INER 150, 0002 +58LH 62 52,200
2)CCTV ®JI2 15,0002 ¥58CH » 122 10,440
2)CCTV 2E2 16,0002 +53CH » 122 10,176
1CCTV KX =4 132, 00024 %3304 * 122 52,272
401 A&EIL=0HY| 325,528 449,892 A 124,364
01 A= 325,528 449,892 A 124,364
1)CCTV &I bl 177,000
2)CCTV | 70f 30,000, 0002 5L 150,000
2)CCTV XIFCH& A 3,000, 0002 54 £ 15,000
2)CCTV MM % 2T2IY &x|
0,000,0002! * 14| 10,000
2)CCTV JIEFE XI 2 At 2,000, 0002 #14] 2,000
1)CCTV EHSAIAE 0l F & Xt 3,528
2)CCTV XIZECH 01& &b
1,107,000 *3TH 3.321
2)CCTV St S OIH&X
3,402, 2002 +3C4 10,207
1CCTV HHEAIAE XS5 66,000
2)CCTV S8t FH 30,000, 0002 #2CH 60,000
2)NSSs T2 6,000, 0002 *14] 6,000
1)=38 SANIZI &3
27,000, 0002 * 14} 27,000
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X XH .
(=

chel:

B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
1)CCTV S0 = HH A 42,000
2)-HEA &M 1,500& *2,000m=8CH 24,000
2)=HEA &AM 3,000& *2,000m*3CH 18,000
FXEE e E A 514,380 273,769 240,611
201 Letd| 476,880 230,424 246,456
01 At®2teldl 23,040 27,924 A4,884
NSNS 2SI AAE S22/
330,000 *12& 3,960
NYINMAIAE S22l
330,000 x12& 3,960
1)CCTVEL S HAIAI A S 2 X 22l
330,000& = 12& 3,960
1QIE Yo IR IAIAE S22 Yl
300,000& 123 3,600
1) EPDA SHSAIAE X 22|
300,000& x12& 3,600
NUHMSAIAE X Z2H] 220,000 x6& 1,320
NHSHAZEE XM S 2l
44,0003 x5t A x12E 2,640
02 =229l 453,840 202,500 251,340
NEXNRESIS(MEEXA, =AES)
1,720 *18,50021 x12& 381,840
NENREUULFZ(SE2 L2 .28
SN S) 2203 15,0004 = 12& 39,600
NEXNLSE WM& +=22(LH)
70 *30,0004 x12& 25,200
DIIAATANA SHIIZ =22
60& x10,00024 =12 7,200
303 EAZ 37,500 43,345 A5,845
01 Z&3 37,500 43,345 Ab,845
NHEEMEd > ZTAZS(1EXL)
150,000, 0003 *1% 1,500
NHEEMEE > ZTAZ2(2EXRL)
200,000, 000 *3% 6,000
NUEEMEE > ZTAZ(3EXRL)
600,000, 000-& *5% 30,000
| Ns]}s] 20,000 1,418,100 A 1,398,100
801 oilgldl 20,000 1,418,100 A 1,398,100
01 olldlsl 20,000 1,418,100 A 1,398,100
1)alglgl 20,000,000& * 14! 20,000
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chel:

S HH O (BH) - HIRAY - BAS Of) & 04 dE= HDZ2
Z=NEAE N (FXUHEELSIH) 427,500 352,500 75,000
Al 299,250
XA 128,250
D202 =4 At 427,500 352,500 75,000
Al 299,250
XEAI 128,250
401 Al&H 2204 427,500 352,500 75,000
Al 299,250
XEAI 128,250
01 Al&H] 427,500 352,500 75,000
NIHEI R SEF2I| ZA
7,500,000 570+ 427,500
Al 299,250
XER 128,250
DNEANEZS SN (ENEELS|H) 1,951,540 1,476,474 475,066
Al 100,000
XEAI 1,851,540
WEANLEE SXEL ZA 805,600 810,862 N5,262
401 Al&Hl 2200 805,600 790,000 15,600
01 Al&H] 805,600 790,000 15,600
NARAZNAIL (LT S) AR
450, 0002 *1500H & 67,500
1)BrAFE A X 700,000 *504 35,000
NS AXIE| 200,000 *500m 100,000
NAENBS2O S22 450,000 «1709H £ 76,500
NEEXE x| 300,000 *100m 30,000
No0IEE3Y EXNE &X
1,300,000 *44 & 5,200
DNASEXE M
500,000 *1, 1007 A *25% 137,500
NEAES EA=220 AxX 400, 0002 *250m 100,000
NEAEL s A 400,000 *80m 32,000
NDAESEE &X 90, 2502 *40074 36,100
NOINELRAIE &x 60,0002 *200m' 12,000
NECSTEINM L ZOHOIEHO AL A X
3,500,000 %4574 £ 157,500




2N DENED
HH: FRE2S O L FAAL =S
CF DSALE RA B (FAHSHEIH) (9l @2l
_ _ HE T
SN -BH - S(B) - MRAY - BES 0f &k il i~ o Hn=2
NOISHASI RAI2el e
16,300,002 * 14| 16,300
OB0IZSRANLE RAZ4 293,500 300,000 6,500
401 Al&HI S O 293,500 300,000 76,500
01 A& 293,500 300,000 6,500
20 NYYNES 55,0002 4,500 247,500
NISSXE L3 35,0002 <200 7,000
NEHEA S 25,0002 +800™ 20,000
DEESE-TE] 200, 0002 *45n 9,000
1)E X B F 200, 00021 *507H 2 10,000
ST OHHER T F| At 48,000 47,000 1,000
201 Br2 | 1,200 0 1,200
02 2= 1,200 0 1,200
HEE BN EXI B &I|R3
100, 000! * 122 1,200
401 Al&HI LS O 46,800 47,000 £200
01 AIZH 46,800 47,000 A200
NESXOHEXE DA 6,500, 0002 *2} 13,000
XS DA 1,400,002 <204 28,000
&g DA 500, 0002 <674 3,000
DESG-E 100,000% x20E 2,000
PERIESS 400, 00021 *27H 800
SROYEXT FHIA 373,000 66,000 307,000
401 Al&H 2 ol 373,000 66,000 307,000
01 A& 373,000 66.000 307,000
NEROYEXE A& 2,000,002 ¥2H £ 24,000
NERSHEXE 04 8,000, 0002 *27} 2 16,000
NESOHHEXE DA 5,000, 0002 557} 4 25,000
NEROHEXE 2SI
4,000,000% %204 £ 8,000
1)OHHER B &%) 300,000,0002 *14] 300,000
NEHOIE S5 ALY 354,440 200,000 154,440
A 100,000
XA 254,440




M UWEXE L
B ZR28 WM L FHAL HE
Crol: DEASE SN (FRESHEN) (gl a e
S . M. Ch HEAY . N2 Al OH HEE Hl =2+
201 LBHEHH| 58,240 0 58,240
02 ==29gtl 58,240 0 58,240
NUHA & >2/dH 29 58,240
2)x=cl e 2200 10,000, 0003 * 1A 10,000
2)8I122 100,000 & *4J4 2 *12& 4,800
)edz 100,000 *4JH 2+ 12 4,800
)THETANE 22
150, 0003 *40 A« 122 7,200
2Q)NEHEE S 30,000,000& * 14 30,000
Q)EUE USHEIA 23
60,0003 20 A+ 12& 1,440
401 A&BIZ20OHYI 296,200 200,000 96,200
Al 100,000
AL 196,200
01 A&l 296,200 200,000 96,200
NAEHE2A Ald L FHy|
6,060,600 *33% 200,000
Al 100,000
PADS| 100,000
NdolE XHEH M 230, 0003 *40CH 9,200
1)201& Xr&EH 0K 300,000 =40CH 12,000
NAEHEZ & 75,000,000 * 14! 75,000
OtSHA SXU &X 77,000 0 77,000
401 Al &BIZ20HYI 77,000 0 77,000
01 Al&H| 77,000 0 77,000
NOIE2HA SXU & X 7,000,000 * 1104 A& 77,000
F=IAE Zel(FUHESEEA) 393,741 318,290 75,451
Al 24,000
DS 369, 741
=AFES Md Y FH 70,626 88,950 N 18,324
401 A &HIZ20YI 70,626 88,950 AN 18,324
01 A&l 70,626 88,950 A 18,324
NE=XNREL &M 24,3203 *1,922H 46,744
NEHREL A 35,800 *150% 5,370
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EX2 WH L FHAIL BE
EXAIE BEl(EXESE3IH) R
_ _ HE T
N EH - S2A(3H) - MRAE - BES &HeR Ol AF o8 HusZ
IEEEEE 890! 4,000 3,560
1) B (& /8 =M 17,8002 *8402! 14,952
DYFNE Y AZNRUFIA 2% 265,036 181,340 83.696
201 et 25,036 24,660 376
01 At222IH| 25,036 19,995 5,041
DPHAFS SAENY EXNLUE
1,490,000 52351 #6. 5%« 110% 25,036
307 QI2t0lA 240,000 113,880 126,120
05 BIRteIEta 240,000 113,880 126, 120
DEEIVETTE= 40,0002 *500CH * 12 240,000
EERE ORI A 48,000 48,000 0
Al 24,000
XA 24,000
401 A&HIZS Y 48,000 48,000 0
Al 24,000
XA 24,000
01 A&l 48,000 48,000 0
1)REEIE ORI A
48,000,000 * 14! 48,000
Al 24,000
Xt 24,000
RHALEY A} 10,079 0 10,079
101 o121 10,079 0 10,079
0 JIZHMI2ENSES 10,079 0 10,079
1) XA EHZ AR Q121 10,079
2)ol 24| 43,9902 =207 9,106
4R EE 973,000 *14! 973
SOl BESFUE AL (FUESHIH) 953,652 3,014,670 £2,061,018
ZEIS ZEFNE HEMY 250,000 2,389,100 £2,139,100
401 A&HIZ=CHY 250,000 2,389,100 £2,139,100
01 A&l 250,000 2,389, 100 £2,139,100
2215 ZETHE Y
250,000, 0002 * 14} 250,000
HoS BESFNF AL ALY 653,652 625,570 28,082
401 AlZHI LY 653,652 625,570 28,082




2N DEXNE D
Mo =25 NN ¥ FIAIL 2B
ol FEDl BEFAE AL (ZAESHIH) (9l &2
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Off &F K Ol AF o8 Hws2
01 A&l 653,652 625,570 28,082
NaH2S BESFNY AL 653,652,000+ 14! 653,652
LB BEFNE ALAY 30,000 0 30,000
401 ANEHLLHY 30,000 0 30,000
01 A&l 30,000 0 30,000
1)J1=2£2 =l 30,000,000 *144 30,000
AHES BHEXNY FXY SEAY 20,000 0 20,000
401 AN&HLLHY 20,000 0 20,000
01 A&l 20,000 0 20,000
1)&H S 20,000,000 *14} 20,000
HHSAAU(REXNTH) 1,376,842 1,402,415 £25,573
ol ot (FRESHaH) 1,124,617 1,160,855 £36,238
olzi2 gyl 1,119,757 1,155,875 136,118
101 o121l 932,662 1,006, 186 AT3,524
01 =2 448,914 515,276 66,362
1) =23 414,382
2)IISH 72(1958)
2,028,5009! +1 122 24,342
2))15% 82(1652)
1,710,700 «19% 128 390,040
Y244 414,382,002 +1/12 34,532
02 g 152,300 181,765 129,465
PESEE 106,715
2)15% 72
7,457 %12 #57 Al 2+ 122 %1.045 5,331
2)J15% 83
6,682 * 18 *57 Al 241221 *1.045 85,971
2)tEaY 15,413
3)HH 2 Xt 40,0002 *19% 122 +0.95 8,664
3ES 20,0002 *19% *128+0. 40 1,824
3)dI% 20,0002 19% *128+1.08 4,925
DPUEETICES 1,518
2)E3tn 62,4002 *19% *431%0.32 1,518
NE24g a3 16,320




FM: nSAEH
B #ELAAY (DS
chol: ol 2ol (FAY cHol &l
_ _ MNuE o
M- F= - S2(3H) - MRAY - BES arey il ot o {imE=Eh
2)164-204 80,000 x 11+ 123 10,560
2)10&-154 60,0003 x8H «12& 5,760
NI RI=> 414,382,000 *0.49+4.8% 9,747
DETUEESERS, 500,000& »3E «12& 18,000
03 HHZAH| 29,640 37,440 7,800
NEUZ A 130,000& «19H x 123 29,640
04 WE2 x| 27,480 34,680 A7,200
Nlsa 73 130,000 18 x12& 1,560
NIIs& 892 120,000 *18H x12& 25,920
05 ZEFIH 41,439 47,471 26,032
NEHESOHI 414,382,000 *1/12%120% 41,439
06 JHAIXI&H 69,064 79,118 A~ 10,054
1)JHH X2 8l 414,382,000 *1/12%200% 69,064
07 SII2 4| 17,266 14,505 2,761
1) IS A HI 414,382,000& *1/12%1/30x 15 17,266
08 JIEtAE = 146,559 95,931 50,628
nos 73,501
Q) NEN2H
38,501,000 x1ZH*1.0152 39,087
QJuSHE=2H
33,898,000 x1H *1.0152 34,414
NE}224Y
73,501,000 *1/2%70%*0.5%1.5/226%57 Al 2+ %
128 58,395
NoiEg 2,381
2)BH= Xt 40,0003 x2H x 12 960
2)EH 20,0003 x4H+0.4x12& 384
2)8l=5 20,0003 x»4H +1.08H «122 1,087
NWsSE Xyl 3,000
2)Het= 130,000 1+ 12 1,560
2)Hot=2 120,000 18123 1,440
NAZEZHI 2,940
2)AHet= 140,000 18122 1,680




SN DENEH
HE: $H2AAY (RSN
Sl ol 2l (RS ) (5 &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ofl At ot Hws2
2)°t 012 105,002+ 1%+ 122 1,260
1)CHel 2 S| 50,0002 22 122 1,200
1)Z o Z Al 130,000 %23+ 122 3,120
DEEBIEPEH
73,501, 00024 #66%¢1/ 12+ 1/30+ 152 2,022
204 HPLBAY 41,340 41,340 0
EEEET 28,140 28, 140 0
PEEEES 28, 140
2)Ils72 140,000 %1%+ 122 1,680
2)7158-92 105,000 %2124 *122 26,460
03 SHYLL+ S| 13,200 13,200 0
1)CHeI 2 Sl 50,0002 x222 * 122 3,200
304 GIZRYIS 145,755 108,349 37,406
NEEEEEE 108,262 93,860 14,402
PEEEIEE 79,314
2)IISE (FRE)
465,234,0002 15, 265% 71,112
ImE=FSEEs 73,501,00021 0. 73+ 15. 265% 8,202
PERERS=EIE 27,800
2)IIS = (FRE)
465,234, 00024 +5.3575% 24,925
ImE=F Sl 73,501, 00021 0. 73+5.3575% 2,875
DRSS 1,148
P)IISE(FEREHE) 465,234,000 %0.221% 1,029
) NSHLX 73,501,00024%0.73+0.221% 119
0 =oIAUYBEZ 37,493 14,489 23,004
IELEETEEE 36,033
2)IIS = (FRE)
1,251,337, 00024 +2. 54% 31,784
2 NSHLH 167,258, 0002 %2.54% 4,249
NEley 223 36,033, 00021 +4. 05% 1,460
EEESL] 4,860 4,980 A120
203 AREXY| 4,860 4,980 A120
VEEVEEEEEST 4,860 4,980 A120




M UWEXE L
A HH2FGH(LEXNZ L)
Crol: o122 ofyl (XA SE8H) CLEE
B . M. CHe (5 NEAS . T2 Al OH HEE Hl =2+
NEMSILREEY 405,000 * 123 4,860
J2ZHI(=XEEEAH) 252,225 241,560 10,665
Jl2Z | 252,225 241,560 10,665
201 et 104,880 87,600 17,280
01 At®R2teldl 104,880 87,600 17,280
1) Br=H| 3,000,000& =12& 36,000
NYERFXZ 2 7,0003 x202 *41H * 123 68,880
202 OiHl 127,920 134,160 6,240
01 =Wodl 127,920 134,160 A6,240
NERFT0 LI 20,0003 x 13 41 H = 12& 127,920
405 XH&HFSHI 19,425 19,800 A375
01 TRIEEEFHSHI 19,425 19,800 A375
NCIS AR (2H) 845,000 »15CH 12,675
NCIS AR (2LIE) 300,000 =15CH 4,500
NCIISARIDI(Z2H) 750,000 =3CH 2,250
MWRES(NSAE) 1,966,453 0 1,966,453
HEHAHXE(FUESESIH) 1,966,453 0 1,966,453
=Ch2IH| 1,966,453 0 1,966,453
309 BINSBIMNEES 1,966,453 0 1,966,453
02 SAt-SHINNES 1,966,453 1,631,522 334,931
NAIE22SHEES 1,966,453, 0002 * 14! 1,966,453




